PAL Worksheet 9. Couple Moments, Force-Couple Reduction ENGR 30

1. Determine the resultant couple moment acting on the bar.co

1.5m 40 mm

J 2 4 > 10kN

13
12

10 kN 3 kN

l 5 kN

3 kN

2. Determine the couple moment acting on the pipe OAB and express it in Cartesian vector

form.
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3. Replace the loading system by an equivalent resultant force and couple moment acting at:
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4. Replace the forces by an equivalent resultant force and couple moment acting at point O.

F = {9j-7k} kN

A (10,0,0) m F = {-4j-8K} kN

B (10,10,-5) m



